TF1. While general managers have their authority limited to specific areas in the overall organization, project managers have authority over any activity required by the project. 

TF2. One can trade-off time and cost when managing a project, but the project’s technical specifications must be maintained exactly as the client initially specifies. 

TF3. A disadvantage of using scoring models rather than financial models for selecting projects is that they cannot include the project’s profitability. 

TF4. A project that is selected because it is necessary for continued operations exemplifies a sacred cow. 

TF5. The cost of hiring additional software engineer(s) was already included in the initial investment in Handstar Inc. case.

TF6. The primary purpose of the launch meeting is to develop the project plan and budget. 

TF7. It is acceptable to restrict the launch meeting to brainstorming a problem.

TF8. One of the problems with mind mapping is that it is relatively difficult to convert into work breakdown structure (WBS).

TF9. The project manager is supposed to facilitate the work of the project team and must, therefore, stay aloof from the conflicts arising among project team members. 

TF10. An advantage of pure project organization is its great depth of technical knowledge. 

TF11. Functionally organized projects are NOT seen as a high priority by functional managers. 

TF12. In addition to managing the project, the project manager must also select the project’s organizational form. 

MC1. Which of the following can be included in scoring models for selecting projects?  

a) potential profitability of the project

b) potential impact on the firm’s competitive position

c) the organization’s ability to market the output of a project

d) all of the above can be included

e) only a and b above

MC2. A subdivision of a program is a(n)

a) task

b) activity

c) project

d) budget

e) action plan

MC3. 
In Crystal Ball, cells that contain outcomes which we are interested in are called

a) assumption cells

b) distribution cells

c) forecast cells

d) decision cells

e) define cells

MC4. The results of the launch meeting include:

a) finalizing the project team 

b) finalizing the project’s schedule

c) finalizing the project’s budget

d) determining that the project’s scope is understood

e) selecting the project champion

MC5. What is the primary purpose of creating a work breakdown structure? 

a) to draw the project plan as a chart or tree

b) to make sure important tasks aren’t overlooked

c) so that all team members can see what others are working on

d) to assign budget numbers to tasks

e) to identify important precedence relationships

MC6. Which of the following is used to show linkages between people and tasks? 

a) the Work Breakdown Structure

b) the Linear Responsibility Chart

c) the Project Action Plan

d) the Project Resource Diagram

e) the Concurrent Engineering Chart

MC7. The process of managing the way different groups work together on a project is called: 


a) concurrent engineering

b) integration management

c) interface management

d) transdisciplinary engineering

e) simultaneous engineering

MC8. In order to prepare a mind map, you need to start with:

a) the maximum allowable cost of the project

b) a definition of role of the working professional programs (WPPs)

c) a means of evaluating the results

d) the most detailed tasks

e) a statement of the project’s objectives

MC10. Entries above the diagonal in the Design Structure Matrix indicate

a) tasks that need to be shortened

b) tasks that have no resources assigned to them

c) tasks that are on the critical path

d) potential rework situations

e) tasks with no predecessors

MC11. The project manager is responsible to:

a) the parent organization

b) the project team

c) the project’s client

d) the project manager’s immediate supervisor

e) all of the above

MC12. Which of the following is an important project manager role?

a) technical expert

b) supervisor

c) project champion

d) micromanager

e) communicator

MC13. Which of the following is NOT a characteristic of effective project team members?

a) They are technically competent

b) They are politically sensitive

c) They have a strong orientation to their discipline

d) They have a strong goal orientation

e) They have high self-esteem

MC14. A matrix that illustrates the magnitude of both product and process changes resulting from a project is called

a) the aggregate project plan

b) the product-process matrix

c) the aggregate master production schedule

d) the balanced scorecard

e) the R&D project portfolio

MC15. The results of the launch meeting include:

a) finalizing the project team 

b) finalizing the project’s schedule

c) finalizing the project’s budget

d) determining that the project’s scope is understood

e) selecting the project champion

MC16. Which of the following is NOT typically included in the project action plan?

a) potential barriers

b) immediate predecessor tasks

c) estimated resources

d) individuals tasks are assigned to

e) estimated task duration


MC17. In order to prepare a mind map, you need to start with:

a) the maximum allowable cost of the project

b) a definition of role of the working professional programs (WPPs)

c) a means of evaluating the results

d) the most detailed tasks

e) a statement of the project’s objectives

MC18. Entries above the diagonal in the Design Structure Matrix indicate

a) tasks that need to be shortened

b) tasks that have no resources assigned to them

c) tasks that are on the critical path

d) potential rework situations

e) tasks with no predecessors

MC19. Why is it necessary to consider the learning curve of resources on a project?


a) to estimate labor costs properly

b) to improve project team morale

c) because it always takes less time to do a task after someone has done it a few times

d) collective bargaining contracts require it 

e) All of the above























































